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QUESTION 1

Which option describes local-user accounts on the Cisco ASR 5000? 

A. The local-user account is ANSI T1.276-2003 compliant. 

B. The local-user account can be configured only in the local context. 

C. The local-user account allows for privilege-level escalation on a context level. 

D. The local-user account can be accessed only from the serial port. 

Correct Answer: A 

 

QUESTION 2

Which option is the value of the AVP Auth-Application-ID for the Gy interface? 

A. 17 

B. 4 

C. 38 

D. 13 

Correct Answer: B 

 

QUESTION 3

Exhibit: 
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Refer to the exhibit. Which two options best describe this CDR? (Choose two.) 

A. The CDR was generated for IMSI +91-123012345612345 

B. The CDR was generated for an MS that belongs to the "cisco" APN. 

C. The CDR was generated because the volume limit was reached. 

D. The CDR was generated for the home subscriber. 

E. The CDR was generated due to RAT Type change to EUTRAN 

Correct Answer: BC 

 

QUESTION 4

Which three sub-AVPs must be sent within the AVP Charging-Rule-Install when installing a dynamic PCC rule on the
PGW? (Choose three.) 

A. Flow-Information 

B. Bearer-ID 
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C. QoS-Class-Identifier 

D. APN-Aggregate-Max-Bitrate-UL 

E. Allocation-Retention-Priority 

F. Bearer-Control-Mode: UE_NW (2) 

Correct Answer: ACE 

 

QUESTION 5

Which statement about idle mode signaling reduction in the LTE network is true? 

A. ISR support is not mandatory for UEs that support GERAN/UTRAN. 

B. ISR requires special functionality on the UE and the core network nodes (MME, SGSN, and S-GW). 

C. ISR requires special functionality on the UE and the core network nodes (MME and SGSN). 

D. Gn/Gp SGSN supports idle mode signaling reduction functionality. 

Correct Answer: B 
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